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Topic:- Child Development & Pedagogy (CDP)

1) Identical Twins have . | GUFY 9S4 (Mgsfewd gi)
1. developed out of two ova / Eﬁ sl O faslya Eﬁ?f %I

2. no identical heredity/afl's“; o gawT mgafélw eT gidr gl
3. common heredity / 5 THTT ﬁﬂﬁfﬂﬁT grdr gl
4. usually no resemblance to each other/ 3T diX 9T Th qgﬁ q PIg AT 18T ¢

Correct Answer :-

« common heredity / H @A a@afe\lw giar &1

2) Masculinity and femininity are typically linked to

| S B €1
1. Sexism / TeaTdig

2. Sex / felar

3. Gender / foiar

4. Patriarchy / Tdced

Correct Answer :-

« Gender/ a1

3) It's the part of the scientific method that uses the data to help explain the results of the

experiment. What is it caIIed?/ﬂgaﬁTﬁﬁ?q@'ﬁﬁwméﬁﬁm%Wﬁ
RS H A Heg 1 3 AT BT SUANT Hal 31 T3 T Hed 82

1. Conclusion/ fsay
2. Purpose/ FTSTeT

3. Hypothesis/ 9eheTddT



4. Observation/ 3TdcileheT

Correct Answer :-

« Conclusion/ fshy

4) Judgment should come through a systematic analysis and evaluation. This is known as

_ ./ fof v oafeua faxawor sk geaied & Areaw | g Tifeul 31
9 § ST ST 8

1. Critical thinking / 3TgeT TideT
2. Insightful thinking / 3 fSequT fRider

3. Emotional thinking / HTdsTTlcH® el

4. Divergent thinking / 3T99RT TIdeT

Correct Answer :-

« Critical thinking / 3TgeT fdideT

5) The average attention span of a high school student is: / T ] el ¥ o i taa
e Aty fhae @ &

1. 32-40min/ 32-40 fAsIC
2. 25-30min/ 25-30 fAsIC
3. 10-12min / 10-12 A€
4. 15-20 min/ 15-20 fAsTC

Correct Answer :-

e 10-12min/ 10-12 fAse

6) When is the best time to reinforce behavior? / S4agR HI JATAd HIa H T IHeoT
AT §d 82

1. Long before the behavior occurs / cIdgX ?I?-T q Elg’(—f HAT ‘T&"@f

2. Long after the behavior occurs / IR @lel o ofd THI dI¢

3. Shortly after the behavior occurs / SIdg g S AT 6l

4, Shortly before the behavior occurs / cIdgR ?I?T p=y S HAY L-I*ao\i

Correct Answer :-



« Shortly after the behavior occurs / SIdgR g PO AT §Iq

7) When a pleasant stimulus is added to increase the incidence of a behavior, it is known as:
| ST U SAAGR Y AT P 951 & [T TF GG 389 H AT AT 8, AT 3
T H ST ST § |

1. Positive punishment / §hRTcHb GUS

2. Positive reinforcement / HhRTcHh go-lcfloia-i

3. Negative punishment / sTohRTcHh qUS

4. Negative reinforcement / sTohRTcHb Lj;:-l«scloio-l

Correct Answer :-

 Positive reinforcement / HhRTcHh l;iﬂ;:-lscloio-l

8) Unless the typist, in order to learn typing prepares himself to start, he would not make
much progress in a lethargic and unprepared manner. Who proposed this learning theory

which believes in the ‘Law of Readiness’? / SI§ d& cISA¥e, agﬁvr sfaer & Qv gq
aﬁwwﬁﬁ:ﬁwmaﬁm%mﬁaﬁwmﬁtmmﬁm
maﬁmuwmmmmﬁmmm T & e A
faearw &ar §72

1. Jean Piaget / SfieT TSt

2. Edward Thorndike / USds U85
3. Wolfgang Kohler / aiehalaT dhlgek
4. Tan Pavlov / 34T UTdeild

Correct Answer :-

« Edward Thorndike / USdS UTISSeh

9) One way to involve all students in the class, so that no one feels left out is by: / & J

st sl A afAe w1 vF alFw @ § A’ 9 o T Aeaw T W F 3@
oI & 3 §:

1. Punishing the non-performing students / I-9eeTT T arel BTAT P €8 &l

2. Changing the seating arrangements / SG ST STGEAT I FTGofed]

3. Ignore the uninvolved students / TS=IT enfder gl arer BTl T 3ULT el



4. Send the uninvolved students out of the class / ICRIRUIES] E?f%[ i S Bl DHET q dlg v
ol

Correct Answer :-

« Changing the seating arrangements / S&e1 @l cIATAT Pl SGolell

10) During a guidance service the help that a client receives is for: / T ArtgesT dar &
e, ag #Ace Y UF ARF A U fav A §:

1. giving solutions/ THTHTT el
2. making decisions on behalf of the client/ ITgeh T 3R & oot o
3. impose opinions/ I A=t

4. focus on setting goals and problem solving/ o1& fraRoT 3R gHEIT gAY W
Ol

Correct Answer :-

» focus on setting goals and problem solving/ & freRor ik gFEar geEYe W)

11) During development, a major prerequisite for learning is: / @@ & gRwet, rflasr &
fT v gog@ ot @

1. Maturation / 9RUFadT
2. Encouragement / JicaTgel

3. Guidance / faermeT
4. Financial help / fdcdr @graar

Correct Answer :-

« Maturation / IR9aradr

12) Qver protectiveness of parents leads to in the child. / ATA-Rar 7 33ats
FTcAHAT o HY # 3R F S B

1. Confidence / 3TcATaa T

2. Dependence / f¥eRar

3. Ego strength / 3-1€T=FIT IEG]

4. Level of aspiration / 3ThT&IT TR



Correct Answer :-

« Dependence / IGEIGII

13) Which of the following is a characteristic of the project method? / #=faf@a & @&
Fia-dY vF doge A i fadvar &2

1. A voluntary undertaking / Ud> @quo gddry %I
2. Carried in its natural setting / 3011 W‘%ﬁ? TfeT & &F ST ]
3. Problematic act / JHYITHD OPIJI

4, Used for all round development of child’s personality / T & Ifadd & gafior e & %‘I’Q
SUIRT & e g

Correct Answer :-

« Used for all round development of child’s personality / ST & afadd & gafior e & 1%’1?
SUINT & el g

14) Which one of the following is a principle of counselling/ fafaf@a & ¥ Far 9w
&1 o fguia 32

1. Diagnosis of external appearances. / STg3l f¢@rd & G|
2. Acceptance and understanding of individuals. / SIT&ddt T Fﬁ'ﬂjﬁf 3R F#FE|

3. Flexibility of program according to community needs. / F@aﬁ? 3TALIHRATIHT & AN
FIIhHA T AT |

4. extending help to all individuals. / Y cITFAAT Pl TETIAT YSTeT HleAT|

Correct Answer :-

« Acceptance and understanding of individuals. / SITFAAT T Fﬂﬁjﬁ AR GH

15) Which is the second stage of psychosocial development according to Erik Erikson? /

RF tRFET F IqUR, AEHITSNS &AFE FT g@Er =@ o Hia-ar g2

1. Initiative vs. guilt / gl delTH 3O

2. Autonomy vs. shame and doubt / TITIAT FITH QA 3R TE

3. Industry vs. inferiority / GRS FATH EleTdl

4. Generativity vs. stagnation / 3Gl §dATH Sglld

Correct Answer :-



« Autonomy vs. shame and doubt / TIAIAT §AH T iR TE

16) The premise that an individual's behavior and affect are largely determined by his or
her attitudes and assumptions about the world underlies: / a8 3TUR 3 fFdY =aFa &
agR AR gHE A 93 YA W3S Ao IR g A wEm F A A
A3 garr fuiRa frar S &

1. Cognitive-behavior therapy/ HalTdTcHh-cTdgk AT

2. Psychoanalytic psychotherapy/ HANTALAYUTcHS Hell [ TchedT
3. Milieu therapy/ o3 a¥dr

4. Modeling/ ATSToIaT

Correct Answer :-

« Cognitive-behavior therapy/ HalTdTcH-cTdgk AT

17) In which stage of development does the child learn motor and physical skills necessary
for playing different indoor and outdoor games? / @&/ & &y aor # goar R
313 31X 3M3EER A7 @ea & AT 3maeds A 3R arifiRE sl daar &2

1. Later childhood (6 to 12 years)/ T STeATaTAT (6 ¥ 12 dV)

2. Infancy (up to 2 years)/ AAATAEAT (2 IV dh)

3. Adolescence (from 12 to 18 years)/ fRIRTGEAT (12 ¥ 18 dY dh)
4. Early childhood (3 to 5 years)/ IRfHeh STedraedT (3 5 V)

Correct Answer :-

« Later childhood (6 to 12 years)/ 9T STeATaTAT (6 T 12 dW)

18) What must be encouraged in the second stage of psychosocial development according to
Erikson? / TREFHT & HJAR, AANGAAF @FF & q@ @1 § F41 Dcamegd BFam
ST Tfee?

1. Relationships / T&eT

2. Support / HEANT
3. Proximal development / foeheads Taerd
4. Exploration / 3{ed¥0T

Correct Answer :-



« Exploration / 37=d¥uT

19) What is the term used to denote the long-term increase in IQ over the past few decades?
| Rod & qudl |, eftwar IEFy) A fuwrfas e F1 AFhaT = F Qv
e ereg F1 399NT fFaT STar @2

1. The Flynn effect / foeleT TTa

2. The generation gap / TGl 3TaRTel

3. The 1Q effect / 3-]T§EF€{\ JHTT

4. The Wechsler effect / dTER JHIT

Correct Answer :-

« The Flynn effect / TFeleT T

20) What theory focuses on the role of operant conditioning in language acquisition? / #T9T

H#AIEUr #H TR TR A HAF W T w1 Ry Ha
1. Nativist theory / afefase @Eﬁﬂ?—l’

2. Nature theory / ‘;IT% GECIG]

3. Cognitive theory / HTellcH® TAGHTd

4. Behaviourist theory / c¥dgRare fgurd

Correct Answer :-

« Behaviourist theory / STdgRaTE! fAcurd

21) What career would be ideal for a child with high spatial intelligence? / 3= Taifa®
E ad To4 F AT i q1 gawT e’ gen?

1. Architecture / aTEJhell

2. Musical composition / HINd I=AT
3. Politics / TTSTeifcl

4. Writing / Ter@sr

Correct Answer :-

o Architecture / arEdehell



22) Interest as well as is a must to achieve desired success in a task. / T & 91T -a1g
, Tk T & 9ifSd AheldT UTcd Fila & [T 3maed+ g

1. Attitude / 3TTRGFRY

2. Hard work / SR IRSH
3. Aptitude / JTdT

4. Intelligence / ﬂﬂ'ﬁ'

Correct Answer :-

« Aptitude / J¥IAT

23) Who is the father of Psychoanalysis? / ANTARANT & SeAsh i §2
1. Carl Jung/EF»Iﬁ ﬂW

2. Erik Erikson / TR TRFHT

3. Jacques Lacan / STeh CIEa

4. Sigmund Freud / f87#H8 WwIg

Correct Answer :-

« Sigmund Freud / [87H#s %S

24) The Two-factor theory is introduced by: / gfd®R® RguTd so1& garT yfaurfea
fera I

1. Lev Vygotsky / fora arsaiicaehr
2. Abraham Maslow / 3TsTgd ATEAT

3. Jean William Fritz Piaget / Sii<1 faferad fhes fUamat

4. Frederick Herzberg / DhSI“QOb Svlcd‘lc

Correct Answer :-

o Frederick Herzberg / Cbsi\{do E'>\,r‘lﬁ®l‘lr

25) The two factors which were identified in the Two-factor theory are: / gfa®R®
fguia # O & FR&T A vga & 7§ €Y, 3 §

1. chemical and social / TS 3R @A
2. motivation and hygiene / 3RO (Aifeaers) 3R TaTodr (g8eie)




3. physical and economical / #ifas 3iX Mg
4. biological and environmental / Sfae iR wafarufiy

Correct Answer :-

. motivation and hygiene / 3RO (FAfeaee) 3R TaTadr (§Esi)

26) Louis L. Thurstone did not focus on which of the following abilities? / RFIfaf@T A A
forer a1raT WX 3w v, gLt F earer Ffga w1 fram

1. Associative Memory /'Hﬁ'lff?ﬂ_ﬁ
2. Verbal Comprehension /?Fﬁmﬂ_q"c'm
3. Psychomotor Ability / #ATIROT JIAT

4. Numerical Ability / IRSTHD &I

Correct Answer :-

« Psychomotor Ability / AIIYIOT JIAT

27) Problem in spelling and reading are faced by a child affected by: / %1 & ysnfaa s
TT9 gaNT qcisit 3 IgeT # HAEIT T GTHAT FIAT ST 8

1. Dysgraphia / feganftear
2. Aphasia / aTTdTd

3. Dyslexia | BrafEgar

4. Dyspraxia / fFSEoTFaar

Correct Answer :-

« Dyslexia / F3Taifdaar

28) Pedagogy means to | Rrememea &1 3
gl

1. educate the child / §=d o ATET HET

2. lead the child / = &l o%d;q el

3. guide the child / ST T IMSS Fl

4. understand the child / ST HI JHST

Correct Answer :-



« understand the child / SO I FHSTA

29) The method that enables a student to solve a problem, carry out a task, or achieve a goal
through a gradual shedding of outside assistance is called: / & ﬁﬁ[ \_rﬁ W SHA aﬁ W
U B g6 B, foelt wrf o1 3 37 a1 A58} AeTdT & HiUP Ueg S wHAH
A TP AT U B3 T & S 3, 39 gl oIl &

1. Scaffolding / 9T (THHITes3T)
2. Active learning / feha 31f&9TH
3. Root memorization / #el AT

4. Drilling / Igl?ﬂl

Correct Answer :-

« Scaffolding / 918 (ThHifesaT)

30) Babies learn to differentiate between day and night by the age of ./ Cd|

A A 7= fa 3R I1d # SR FeT dEd g
1. Six months / &g Hglel
2. Three months / cilel HFalel

3. One year / Ueh a¥
4. Nine months / 3l #AgIT

Correct Answer :-

« Three months / el FgIT

Topic:- General Hindi (L1GH)

1) UeTHfa faemufa & Ta=e WP, sragg SR AfY - =1 € yrwrsit # Suasy ® | 3 @IS,
yHeIRE, =i, U, Wed-vRa 3nfe & ywivs uftsa A | 3@ s & fage UusR | 3%
TGP BT 3~ IR W g1 8 | Hfda T, gmie Tamsit # freq-fave & gea waivmg, 3fa-
AR & famre femor, Fiaa o & ISTYEHT BT INME TS IR fd- Ml §RT 3 Baoaary 1,
YT S-S1aq & ATER-UdeR B UG adl 9d=T a7 8 &7 3t TN SHe1val 399! Sreerdt
AT # ool § | R 3R dlp & YYUT TYR W ITHT S-TYRYT SfUPR AT | NgTaRGRNT 3F®
T3 & MBI | IRId SAP! TAT Pfoal 37 UTe T 3R graRRfar &1 yAmr § | eadt Iemai
Pt ARH-US § F Taa 0Ar ArfeR 3 W) | ROR-TRa 81 & qracg 3991 te ot AT
I HE! TRuI-4H | foreg w1EY g | Sruel gR AT @ I queel Riaw, amife siftreaf sik
ISP FATGPR B! WRaR Afaspar 1 fAde= forar |

IUE TR B Ugh 1 U T UY BT 30X Ia133:
Uy - A IO HRA & g T A et i 8 ?



1. fATreT
2. ST
3. $ISTX

4. 34

Correct Answer :-

2) HeThia faemufa 3t Teg v, sagg SR AfYE! - F1 8 utwrel ® Suasy § | 3 wHwIUs,
yHRIRE, =i, U, Wed-=a 3fe & Upivs ufvsa A | I T8 & faga HUSR | 3%
FABAS BT 3 faaR Ty gia1 8 | Wie T91, e wamse # fireq-fave & gga gy, -
AR & fawrg fomror, Ffa aufa & ISTgT ! T I8 T 3R Ff-al gRT 3= Seloyaty 1,
T S-Si1a9 & MER-SAT8R ®! UG(aal IaHT a7 g3 &7 &1 N SHeRal 39@ Sraerdt
TATSH H gof § | R 3R Wi & YU TR W SHT SRATURYT SfUSR AT | SgTaRGRNT A%
SIS & ARSI § AT STH! THK Hiaal ST HUTE FIH 3R GRGIRIAT BT YHI0T § | Fgad Ielrait
Pt ARHF-UST T F Tad AT AWM 3d @ | RAR-TENT g4 & qracg 3991 U Wt TaHras
I el IRUT- H foreg 1Y gam | 31U 3R AT | I611 qHSTA I famae, armfore sifteaf siv
ISP ATTPR B U@ Afadar 1 fHdg= fpar |

ITYe TR B Ugh? - YD T Uy HT 30 Td133:
Uy - NIRa & A1eaw | HeTeia faemufa A f5d sdoary Hmm ?

1. AGThRTaAT

2. GHHGINS Tedent
3. Hferent

4. TAgRT

Correct Answer :-

3) UeTHfa faemufa &t TaATe Twpd, sragg iR Al - =Y & wrwrei # Suesy § | 3 FHwIUS,
YIRIR, =i, =T, Hied-31Rd 31fe & yTvs uftsa & | 3@ Fa-1s & fAge HUsR | 39 %
FAEAD BT 3~ IR WP g1 8 | Hfd wa=1, e wamsit # freq-fave & gea waivmg, fa-
AR & famre fomvr, P v & ISTYEHl &1 INME TS IR fd-Mal gRT 3% Basaary 1,
T S-Sl & MER-AGER $I UKfadl qaT-T 94T 8% &F $t A JIHw1val 39@! Sreedt
AT H ool § | TR 3R i & YU VAR W SHT SR-ATURYT SfUBR AT | SNSAIRGRNT 3HF
T3 & MBI | IRIG SAP! TAT Pioal 3P UTE T 3R graRfar &1 yHmr § | Fgadt Iemsi
P YRH-UG A T T Jd ST AFTERA ¢d 38 | WRIR-TH¥d 81 & qrav]g 34%1 U@ W Faas
I B! TR-4H # foreg wEY g | Sruel gR AT @ I ques Riaw, amife siftreaf sk
VP GATEPR &1 YR Afawar 1 fHde= farar |

SUYT TR B USH -1 T TT UY $T IR 9d154:
Y - AgThid faemufa @t Tamd fra el & IREea B IR § 2

1. 9TeT g



2. 9[cd af
3. sAaRaNT
4, A I

Correct Answer :-

o AsdaraiT

4) HgTHfy faamufy 9t Te-e TP d, sragg SR AR - @A & urwsl § Iuasy € | 3 HH@wIvS,
yHRIRe, 3=, T, W<d-2d 3¢ & up1vs uftsd A | 399 Ta1s & fayd Yok | 3%
FAGAS BT 3 faaR TE gia1 8 | Wied T91, e wamns # fireq-fave & gga gy, -
AR & famre fomor, Fiaa quie & ISTYEHl &1 I/ TS IR Hfd-Mal gRT 3% Hdaaary 1,
T SH-5flaq & MER-ATER B! UKfadT gaT-T 94T 8% &F $t A STHw1ival 39a) Sreredt
TS H ool B | T 3R i & YUl THR WR IAPT TR SfUSR AT | SSTaRGRNT 3AF
TS & AT B I ITB! T FiodT 3% UTE FT SR gRa AT BT yuTor § | Fegad! wremaif
P ARH-UG A T T Fad ST AFTERA ¢d 38 | RIR-TH¥d 81 & qrav]g 39%1 U@ W FaAas
I Bl TR-4H & foreg A8 g | Srueh gR AT | IR GuEe Riaw, arfoe siftreaf sik
ISP AATTPR B U@ Afadar 1 fdg= fpar |

ST TR B UgHR 17 ID T Y BT IR ga133:

vy - fa UeR & quia gR1 eI ia faemufa A e o1 STgasH faar
1. icled auTeT

2. G&H HAIHTEl

3. fd emEat

4. AMFA et

Correct Answer :-

5) HeThia faemufa &t Te-g I, sragy SR AfYE - 41 & urwrsi # Suas § | 3 @IS,
yHeIRE, =i, T, Wed-3Ra 3nfe & yivs uftsa A | 3@ Te F fage HUSR | 39 F
TABAS BT 3 IR Ty gia1 8 | Wid =1, e T # freq-fave & ggr vy, -
ARRIR & fare ferrv, Hioe quie & Il BT I8 T SR Hifd-=mal gR1 3% Sdaaaiy &1,
M SF-S199 & TER-AdER $1 UGfadl aaH1 94T g3 87 &1 JHRNA SHeRal 396 Sraerdt
AT # ool § | IR 3R dlp & YUl TR W ST S-TYRYT SfUPR AT | NgTaRGRNT 3%
T3 & MBI | AT AP TAT Pfoal 37 UTe FH 3R graRRfar &1 yamor § | Feadf Iemai
P AMEA-USfd H § Tad U1 AFGRA dd 18 | RAR-THId g & dravg ST U Wt - ras
I Fal arur-o 7 for 18 gam | 3ot g% AT | =i wHSTd N R, i sifirwat oiR
P GATEPR B1 YR Afawar 1 fAde= farar |

ITYad TR BT UgH A1 I T Y BT IR ga133:
wY - ‘fre-five’ vgay & 59 YR o1 46y §?
1. GHATT

2. 3UHI-LT



3. faenArdf
4, QAT - sy

Correct Answer :-

o et

6) TeTHfa faemufa ot TaATE Twpd, sragg iR A - Fi=1 & wrwrel # Suesy § | 3 FH@IUS,
yHRIRE, 3=, T, W<d-2d 3¢ & uep1vs uftsd A | 399 va1s & fayd YUk | 3%
TGP BT 3~ IR W g1 8 | Ui w1, e Teamsit # fireq-favs & gea waivmg, 3fa-
AR & fazrg fmvn, Fiaa qu & Togeul BT I8 agA 3R ifd-=vdl gRT 3% Sdaaiy 31,
TR S-Si1a & ER-SATER DI UG adl IaTT a7 g3 &7 B U AHBTRAT IS Hraerdt
AT # ool § | R 3R dlp & YYUT TYR W ITHT S-TYRYT SfUPR AT | gTaRGRN 3F®
T3 & MBI | IRIT SAP! TAT Pfoal 37 UTE T 3R graRRfar &1 yamr § | eadt emai
Pt ARA-US H F Taa 30Er ArfeR 3d W | RAR-TRa 811 & Jracg 3991 te ot AT
I B! TRuI-4H | foreg wEY g | Sruel gR AT @ I quel Riaw, amife siftreaf sk
WP GATEPR B! YR Afawar 1 fHde= faar |

IT TR B Ugh -1 YD T UY BT 36X Ta133:
Y - “greRiar &1 3 71 giar 82

1. g¥&eeT S@AaTeT

2.8 A S drell

3.q d& o q@aAdTel

4. 9fasT <@ arer

Correct Answer :-

« HidST @l arelm

7) deTHhia faemufa &t TeAg I, sragg SR AfYE - F1 € utwrei ® Suaw § | 3 eI,
yHeIRE, =, U, Wed-=a 3nfe & upTvs uftsd A | I TS & faga HUSR | 3%
FABAS BT 3 faaR Ty giar 8 | Wids 91, e wamrse # fireq-fave & ggr amvma, -
AFAR & famrg fmvr, Ffaw quiq & Ioge sl F1 IR I 3R Tfa-=Ral §R1 37 Sty 1,
T SH-SHa & ATER-TAER $1 UG adl gaM1 adl &R &F 3 I SFaifar 9@t wrererd)
TS H gof § | IR 3R Wi & YU TR W SHT S-ATURYT SfUSR AT | gTaRdRNg A%
TS & ARSI § AT STh! THX Hiaal ST HUTE FIH 3R GRGRIAT BT YHI0T § | Tgadi eait
Pt ARHA-UST T F Tad 0T AR 3d @ | RAOR-TRNE 819 & Jracg 3991 Ue ot T
IT9 Fal arur-o | for 18 gam | Ut g% AT | I wHSTd N R, i sifirwat oiR
P GATEPR B1 YR Afawar 1 fHde= faar |

ITYe TR B Ugh? - YD T Uy HT 30 Td183:
Ty - W 31 aiaard! i1 82

1. 39

2. dief gor

3. TIAT &l T



4. 39gd

Correct Answer :-

8) HgTHfa faemufa &Y AT wepd, sragg ok AfYert - A+ & yrwreh ¥ Suasy 7 | 3 FH@IwS,
yHeIE, =, U, Wed-=a 3nfe & eivs uftsd A | I TS & fagd HUSR | 3%
TGP BT 3~ IR W g 8 | Ui w1, e Teash | freq-fave & gea aaivmg, 3fa-
SRR & fawrg fmor, Fiawa aui & Iege &1 I g 3R Ffd-2al gRT 3 Beogaty T,
M SH-S1a9 & SMER-ATeR ®1 UGfadl aaH1 94T g3 87 &1 JHN SHeRal 39 Sraerdt
TS H gof § | IR 3R @l & YUl TR TR IHT S™TYRYT SfUSR AT | IR A%
IreT3il & ST A IRd 3T THRA Hioar 37k SAUTE I SR greRIaT &1 yHIUr 3 | Jgad! wrenai
P ARH-USTA F T Fad ST AFGR ¢d 38 | WIR-TH¥d 81 & qras]g 3-@1 U@ W [ Tas
IT9 Fal aRur-o # fore 18 gam | ot g% AT | I wHSTd N R, armfoie sifirwat oiv
P FATEPR b1 YR Afawar 1 fde= faar |

ITYe TR B Ugh: - YD T Y BT 30 Td184:

Uy - HETHfa faemufa 3t IS AARER & €U § S-41 o 9
1. 9E@X FHerrarer

2. &R Jerarer

3. 9ET AHT

4. 9@ Afds

Correct Answer :-

9) WeTHfa faemufa Ft TaATe Twpd, sragg iR A - F=Y & wrwrei # Iuesy § | 3 FH®US,
YHRIR, =i, =T, Hied-=vd 31fe & yrivs uftsq & | 39« 18 & fAge HUsR | 39%
FAGAS BT 3 faaR Ty gia1 8 | Wie T91, e wamse # freq-fave & gga gy, 3fa-
AR & famre fomor, Fiaa quie & IegEHl &1 I/ IS IR Hifd-=Mal gRT 3% ddagaty 1,
T S-Sl & MER-ATER B! UfadT 9aT-T 94T 8% & $t A SHw1ival 39a) Sreredt
TEATSH H gol § | XA 3R @i & YU TR TR SHT SRATURYT SfUBR AT | SgTaRGRNT 3%
ST & ARSI § AT STBT TAR Hiaal ST SUTE FIH 3R GRGIRIAT BT YHI0T § | Fgad Ielrait
P AH-UG(A T T Jad ST AFTERA ¢d 38 | RAIR-TM¥d 81 & qravjg 39%1 U W FA1as
I Fel aRu-uH 7 fore 1Y gam | 3ruet g% AT | I WHSTe R, e siftreat ofiv
ISP ATEPR B U@ Afadar 1 fHdg= fpar |

ST T DI UgHR A1 TS TT UY BT IR 9a133:

Y - HeThia faemufa & T8 Iege sl &) A si=-siad Jat S19-W SRt 3 2
1. 3MER-CAGER T JeHd Fcrem

2. Gt i geufadr samr

3. %ol g SIS el SATRRT ell

4. AT geufd H FERIAT L



Correct Answer :-

¢ JER-SIGER I ggyid e

10) HeTHfd faemufa Ft TaATE WP, 3r@eg 3R AfYE - 4T € yrwrsii & Iuasy § | 3 HHEIvs,
R, =i, =T, Hied-37d 3M1fe & ypivs uftsd & | 39a! I8 & fAge HUsR | 3%
FABAS BT 3 faaR TE gia1 8 | Wie T91, e wams # fireq-fave & gga gy, -
AR & fawrg fomor, pfa qufa & ISR ! BT IWTE T 3R Ff-al §RT 3= Seloyaty 1,
T SH-flaq & MER-ATER B! UGfadT a1 94T 8% &F $t RN JTHH1ival I9a) Srererdt
TEATS H ool § | IR 3R @i & YU TR W SHT SATURYT SfUSR AT | gTaRGRNT A%
TS & AADTA § AT STB! THK Hiaal ST HUTE FIH 3R GRGRIAT BT YHI0T § | Fgad! ITelrait
P AH-UG(A H § Jad ST AFTERA ¢d 38 | RAR-Gd 81 & drav]g 39%1 U W FATds
I Fel aRu-uH | fore 1Y gam | 3rut 8% AT | I WHSTeH Rie, e siftreat ofiv
ISP TATEPR B U@ Afadar 1 fHdg= fpar |

ST T BT UgHR A1 I TT Y BT IR 9a133:

Uy - HETH d faamufa & depTel AeRER | f6d UpR & Heiy & 2
1.9 SIER HFAN™T I

2.9 EER ¥ A d A

3.d °ROT &g |

4.9 #C H A

Correct Answer :-

« 7 GER FFOINT o)

11) HgTHa femufa &Y 9 WP, sraeg iR AU - i & yrwrsit & Iuasy | | 3 wwvs,
YIRIR, =i, =T, Hied-3Rd 31fe & yTvs uftsq & | 3@ Fa-1el & faga HUsR | 39 %
aﬁm?ﬂmmmﬁm%lmm ymive ol d fra-favg & gga e, fa-
AR & famre fomor, Fiaa o & ISTYEHT &1 INME TS IR fd-Ml RT3 Baoaary 1,
TR S-S199 & MER-SATER D1 UG aal IaTT a7 g3 &7 B U AHSb1Ral 343 Hraerdt
AT H ol ¢ | R 3R T & YU TUR W SHT SR™ATURYT SfUBR AT | NSAIRARNT 3HF
Treei & MBI | IRIT SAP! TAT Pfoal 3P UTE T 3R graRfar &1 yHmr § | Fead! emai
Pt ME-UfA § § Tad U1 AFEGRH dd 18 | RAR-THId g & dras(g ST U Wt T ras
I B! TR-4H F foreg AEY g | Sruel BRI | I quETe Riaw, amife siftreaf sik
ISP AATEPR B U@R Afddar 1 fHdg= fbar |

ST TR BT UgHR 12 ID T Y BT IR gaT33:

Ty - T a faemafa a7 9 forw fawa & gepvs dfsa =18t 32
1. EFRMET

2. g

3. FHFIUS

4. shHh[US

Correct Answer :-



12) UETHid faemufa ot Ta-e AP, 3ragg 3R AU - Fi1 € urwsii & Suasy § | 3 FUPIUS,
YHRIR, =i, =T, Hied-37d 3M1fe & yivs uftsd & | 39a! Fa-18 & fAga HUsR | 3%
FABAS BT 3 faaR Ty gia1 8 | Wied T91, e wams # fireq-fave & gga gy, -
AR & fawrg fomror, Ffa aufq & ISTge ! T I8 T 3R -l gRT 3= Seloyaty 1,
T SH-5fiaq & MER-ATER B Ufadl 9T 94T 8% & $t G JHH1ival I9a) Sreredt
TS A gl § | IRA 3R AP & YUl AR UR ITHT AATURT SfUBR AT | SgTaRa=T sw
SIS & AT § IR STHT THK Hiaal ST HUTE FIH 3R GRGIRIAT BT YHI0T § | Fgad Ielrait
P YRH-UGfA H T Jad ST ARTERA ¢d 38 | RIR-TH¥d 81 & qrav]g 39%1 U W FATds
I Fel aRu-uH 7 oy 1Y gam | 3ru g% AT | I WHSTe R, e siftreat oiiv
ISP FATEPR B U@ Afadar 1 fHdg= fpar |

IWT T BT UgHR -1 T TT Y BT IR 9a133:

u - {61 fawdl & Iyl JuR R Aeefa fagmufa 1 s sifter ur?
1. T & g Hifas e

2. F99 i 3 grare ek

3. A 3R ot

4. gEIHerd AR faegmdis

Correct Answer :-

o T 3R o

13) HeTHa faemufa @Y A WP, sraeg onR AU - i & yrwrsit & Iuas | | 3 wwvs,
AR, 3=, T, W<d-2d 3¢ & usp1vs ufvsd A | 399 T3 & fayd oSk | 3%
memwm% | Hfd T, gmifve Teeil § frem-fave & e weivmg, f9-
WW%WW,WWQWWMW&WW-WWG%WHQW
T -5l & MER-AGER B! Ufadl qaT-T 9T 8% &F $t A JTHw1ivar 39@) Sreredt
TS H ool 8 | T 3R i & YUl TR WR ITAPT TR SfUSR AT | SSTaRGRNT 3AF
TS & AT B I ITH! T FiodT 3% UTE FT SR gra AT BT YuIor § | Fegad! wremaif
P YRH-UG(A T T Fad ST AFTERA ¢d 38 | RIR-GH¥d 81 & qrav]g 39%1 U@ W FaAas
I B! TR-4H & foreg g g | Srueh gR AT | I quETe Riaw, arafe sifireaf sik
ISP AATEPR B U@ Afadar 1 fHdg= fpar |

ST TR B UgHR 1Y ID T Y BT IR qa133:

Y - HETHid fIemafa A TeeraR # foa YfireT o1 fadea fosar 2
1. Hfa

2. FrATSS JAfdRdr

3. ToTgeY

4. TOATEHPR

Correct Answer :-



14) #gia fagamafa # [WOW W, Iaece AR AR - ft & smwnat F sueew §) ¥ FeAwwS,
e, g, O, Wieed-ared Y F wHvs afvsa & 3 WAt F R HUsR § 3AF
ATRAF FT Heled AEAR FI5€ Q1 1 HFT T@a, 4 w@emsit # Poe-fwe & agw #=ema, -
IR & Reg for, Ffaca aofq & Togest #1 scaradys AR AfaeeEt garT 358 Fdegarr &,
A FA-SN1ae & MER-cATER HT TeUTadl aaeT Ju7 & &7 i AT ATRINAT 3T Hrerord
T3 # gof §1 A AR e F @Ol HER W ST FAYRT AFR A1l AdgerarafiT e et
F arSe A T 3T FEEd Flaal 3% 4 A AR qrEfiar 1 garor ¥ wEadl womsit A
MHA-9eufy #  FAd Iy AFEHT AT W RAR-FFNNT g F Fras[g 37 U it TAHT
3eIH FE ARO-GH # fed gt gaml A9 W A ¥ I FHGENA R, WSS AfHHA AR
TIhIT FAghR 1 J&@¥ Afawar &1 fades

3YYFA ST FT IGHT AT TS AT WA FT 3R T8

T - AFHY RNy F AEAF F1 3ed RAFaR Fad Fove g ¥ ?
1. 3oTeh! T3 & faqel $USK &

2. 3AT T3 H IRUT-4 o gl &

3. 37T T el T3 H gt &

4. 357 3SR NI I3 & FHAISIIT gl o

Correct Answer :-

o 3oTehl TAT & fagel USSR &

15) #ewia Reamfa #r w@are 5, saecs AR AR - et & smwrst F sweey § | T FwwS,
e, g, 7, wleed-ared Y & wEws af¥sa & | s TEenst & Rya qusR & 3
AAGAF F IHelod [ATAR FISC BT ¢ | HiFa T, 4 Taanst F freer-fwe & gawr wanem,
Hr-afar & feg feon, Ffacg aofa @ Terqest #1 300 Féue 3R Afa-arest qamr 378 wdegaty
&1, WA FA-SNae F HER-AGER 1 TgUTadl aart ad1 g8 8T I FANT TRt s
Ferord T3 & gof § | A 3R dlF F TYOT FER W 3AFT FATURT FAFR 47 | NgaaraiT
IaF T3l F AAB A WA 3Th FAET Fladl 3% 34 T FR qrEfiar F1 gamwor ¢ | weadt
T3t B ArEA-IUTT A F TAT HIAT AFGHA qF W | EAR-TFINRA g1 & aralg 31 0 ot
TACA® 3eA gl IRU-GH & faead A g3 | AUl & AT § Sogiel FABMe e, FANSTH
ffwat R TP FeEER @ yEX Afawar F1 AdeT B o

3YYFA TCATA FT TG AT T AT YA FT IR qASA:

T - T # F B & i TewRar AeEy Regefy f et & oo ad §
1. AT

2. gl

3. SR

4. HleeAAET

Correct Answer :-

o Sifaeme



T 4t farean favad fagean, amar A% few snait wa #i5|
R-R IO 8 ¥ 197, A1 91 g9 S0 frSm g

& & gl u$ a1ad), ot w8 raRT High
39 T B B P U, T e 5 R S I

Y 70 A1 Hg 74 §, Wrell 749 9 81 § a1
HETHA "AP! | o, ForT 28 ga @@= |

forad 9 SaTd 3, Thd A Y& JAHTS |
3T B W AP IS 7 9Q, ) T e S Iqers i

Jae § § ¢ OR ur, faan uReer TS|
eTHd ‘Fe A a1 fay favrsan, gu oM famrst g

ITY U B U 19 YD T Uy P 3w IdIgd:

WY - W19 T Hfd B G1GRT B IG1 &, Al 98 gIaT1 B R F5 761 82
1. aTfdelr

2. 3R

3. gy

4. GEgR

Correct Answer :-

17) ¥ @ fowrsan fawad fagsan, arar &R femr sneht wa S|
W-aX IO Bl ¥ I147, A7 A 79 S fresm |ig i

# & gial wg a1as), oft og aTaRT At
39 T W B2 P AW, TR g3 w4 sl

TG 7Y 1 &g 74 §, @relt 749 99 g1 ° 9|
HEHA ' HAP! AI5 od, o eF g @aw |l

forad S99 SiaTd 3, Thd A Y& JAHTS |
G B W AT IS 7 9Q, ) T e o Iqers i

Jae § § ¢ R ur, faan uReer TS|
eTHd ‘Pe A a1 fay favrsan, gu o= famrst wig

ITYad Ui B U 19 U T Uy P 3<% Id13d:
Y - $fA & AR U1 BI B 3G GPHaT g ?

1. S =TT =TT 8

2. foraeT JiToRereT g31 &

3. o TRe 7 waa @aA @

4, TSHET 3TW &

Correct Answer :-



18) ¥ af farrean fawad fagsan, arar & fewr snait wa #is1
- IoId 8 X 191, 91 o g9 U e m [

# & gf-ar ug a1adt, o H FrawT A
39 TP T B8 B UdIol, T g g& F g 1l

T 7Y 1 Hg 74 §, @relt 79 99 g § 9|
T 1! WIS &1, R = gg @aw

forad a1 SiaTd 3MU, I d | IET GHIS |
3G B W AT IS 7 9Q, o) T e S Tqers i

Fae G § ¢ 0% ur, faaT uRee dETs|
weTd 'Fg A a1 Y farean, qu oM fnrsy wigin

ITYe UL B U 1 YD T ¥Y BT IR Id133:
UY - B & ITAR T Fg a1 B 82

1. HT H

2. #feT &

3. TR H

4, §EATUS H

Correct Answer :-

o HAH

19) ¥ a farsar fawad fagsan, arar &R few snaht wa SIS
R-R IO 8 ¥ 197, A7 a1 89 S0 frSm g

# & gfar ug a1adt, 3N H arawT Wi
34 TP N g B T, T e [ | Ll

g 7Y 1 g 74 §, @relt 749 99 g § 9|
TETId ' HP! 915 ¢, forT T ge @aw |

foraw a1 SiaTd 3MU, IHd A IET GHIS |
3G B W AT IS 7 9Q, ) T e S Tqes i

FA® T A €O ur, 3 ureer dars|
TeTHd ‘Pe A a1 fay favrsan, gu o= famrst g

ITYad U B U 19 U T Uy HT 3<% JdIsd:

Y - $d F TR ITPT R I3 7 78 ¢ qaver 2
1. i 39 B I g fohdl T g 9T gl

2. FifF 38 & & ART HfoaT Bl

3. Fifeh 9§ 37el@ HT =X g



4. F3if IE W §EA I &l
Correct Answer :-

. Fif% TE IIW F W gl

20) ¥ o forsar fawad fagsan, arar &R few sneht wa S|
- TIoId Bl ¥ I14T, A7 A 79 S frsm | i

# & gial wg a1as), oft wg aTaRT Wit
3 T W B2 P AW, TR g T sl

TG 798 1 g 74 §, @relt 749 99 g1 ° 9|
HETHd "W W5 o, o €8 g eI

fora® a1 SiaTd 3, Hd A IS GHTS |
3G B W AT IS 7 9Q, ) T S5 S Iqes i

TS | § ¢ R uran, fear uree 3w
TeTHd 'we | a1 fay farean, qu fom farsy uign

ITa UL B UgHR A U T UY BT IR Ia133:
Y - FId T A I AN P R B w18 2
1. FifF a8 FaT Bl

2. FIfh 3T HeF[e i AT form B

3. i 98 WeeA § TAe =]

4. Fith g8 HER ¥ [958 73T 7

Correct Answer :-

« Fifh 9 FAR ¥ 9os Iar gl

21) ¥ fowrsar fawad fagsan, arar &R fem sneht wa S|
W-IX FIoId Bl ¥ I147, A1 A 79 S frsm | i

# & giat wg a1as), oft Fg aTaRT At
39 T W B2 P AW, TR g3 w4 sl

g 7Y 1 g 74 §, @relt 749 99 g1 ° 9 |
HEHA P! Als od, o eF g @aw I

forad S99 SiaTd 3, Thd A Y& JAHTS |
3G B W AP IS 7 9Q, ) T e S Iqes i

JaE § § ¢ R ur, faaT uReeT TS|
HeTHd 'Fe | a1 fay farean, qu fom farst uign

ITa Ui Y UgHR - YD T UY BT IR Ia133:
Uy - Bfa forae S farer S Rie sg T e ?
1. T3 &



2. 9T &id &

3. JMART el &
4. 9081 &
Correct Answer :-

o 9T Hid &

22) ¥ Y fwrsar fawad fagsan, arar &R fwr snaht wa i
- T 8l ¥ 9167, A7 91 89 S frsm @g 1

# & gf-ar ug s1adt, 3N H I1aw digt
34 TP N g B U, T atgld g | @i

g 7Y 1 g 74 §, @relt 79 9 g ° 9|
A 'HP! A5 ¢, forT T8 g a1l

forad A9 ST MY, P A A IS FHS |
G B R AP IS 7 9Q, 1 T e S aqes

HAe Wi # T O ur, fa uRew dErs |
HeTHd 'Pe A a1 fay favrsan, gu oM famrst wgn

ITYe Ui Y U 1 YD T ¥Y BT IR Iq133:
Y - Bfd A forads |7 IgH 98 W UTn ?

1. AT &

2. HSI® &

3. PR &

4, WeeA &

Correct Answer :-

23) ¥ Y fwrsar faad fagsarn, arar W fwr sneht wa i
- TIoId 8l ¥ 16T, A7 91 89 <l frsm @g 1

& & giral s aradl, o 2 arav Mg
39 T A B I U, T e S | I

g 7Y 1 g 74 §, @relt 79 9 g ° F&|
TETHd 'TP! 115 ¢, o =9 gg @I

fraw S99 SiawTd 3MY, Hhe H QT WHTS |
G B R AP IS 7 9Q, 1 T e S ages

WS | § €W ur, fear uree das |
HeTHd 'Pe A 1 fawy favrsan, gu M famrst wigi

ITa UL B UgHR A1 U T ¥Y BT IR qa133:



Y - “3(d TH A Bg DI Udiel” Ufdd § ST ‘ufior g &1 w1 d grar g 2
1. FACR

2. HATa

3. faeard

4, qHYAT

Correct Answer :-

. faeamg

24) ¥ @ fowrsar fawad fagsan, arar &R few sneht wa S|
- TIoId Bl ¥ I147, A7 A 7 S fresm Hig i

# & gial wg a1as), oft Fg aTaRT At
39 T W B2 P T, TR g w4 sl

TG 7Y 1 g 74 §, @relt 749 99 g1 ° 9|
HETHd "W W5 o, o @8 g @aw |

fora® A9 Sia=Td 3, Hd A I GHIS |
G B W AT IS 7 9Q, ) T S5 S Iqes i

FaTe | § ¢ R uran, fear uree 3@
HeTHd 'we | a1 fay farean, qu oM farsy uign

IR U B UgHR -4 I T ¥y $T SR qa1sd:

Y - Ugd Siaal & fag 9 d 3 e-ar ide Iuged @2
1. P A& ITH-IIH

2. Fegre fear e

3. 9T $1 g

4.3] ¥ faosr

Correct Answer :-

25) ¥ aY farsar fawad fagsan, arar &R fem sneht wa S|
W-aX T Bl ¥ I14T, A1 A 79 S fresm | i

# & gial wg a1as), oft og aTaRT At
39 T W B2 B AW, TR g3 w4 sl

g 7Y 1 &g 74 §, @relt 749 99 g1 ° 9|
HEHA ' HAP! Al5 od, for eF g @aH |l

foraw S99 SiawTd 3y, g a H 3@ AHE |

3G B W AP IS 7 9Q, ) T e S Iqes i



Fae § § ¢ o) ur, faaT uReer dETs|
weTd ‘&g A a1 fay favrean, qu foF fanrsy wigin

ITYe UL Y UgHR - YD T ¥Y BT IR Id133:
Y - TR H 3T e ‘Hg’ BT 3 glar 82

1. G

2.50

3. Tl

4. a¥d

Correct Answer :-

26) ¥ ql fyrsar fawad fagsan, arar &% fa smeit wa #51
- Toid g X 191, 71 1 g9 Ol frgm ag

# & gfar ug a1ast, 3N H arawT Wi
34 TP N g B T, T el 5 | Ll

Y 70 91 $g A4 §, Wrell 749 9 81 § a1
QT 1! WS &1, o =¥ ge @aw

forad a1 Sia=Td 3MU, IHd A IET GHIS |
3G B W AT IS 7 9Q, ) T e S Tqers i

FOe G § ¢ % ur, faaT uRee dETs|
TeTHd ‘Fe A a1 fay favrsan, gu o= famrst g

ITYe UL P U 1 YD T UY BT IR Id133:
TY - U | Y @’ g T 1 A gren g 2
1. 9faq
2. qY
3. geely

4. 3RRT

Correct Answer :-

27) ¥ @ fwrsar Ay fagsan, arar &R 2 smeht wa g
- IoId 8 ¥ 191, 91 o g9 U e @

# & gfal us arad), ot &g aravT Wigh
39 T A B I U, e S R I

T 7Y 1 Hg 74 §, @relt 79 99 g § 9|
T 1! WIS &1, R = gg @aw



forad A9 ST MY, P A A IET FHIS |
AT B W AP IS 7 9Q, 1 T e S ages

WS | § €W ur, faar uree das |
eTHd 'Pe A a1 faw favrsan, gu oM famrst wgn

ITa UL B PR A1 U T ¥Y BT IR qa133:
Uy - ofa fay I = ss mar ?
1. fSerssr & FHROT

2. 3731 & HRUT

3. 3§HR & HRUI

4. S & HROT

Correct Answer :-

o fSerser & FRoT

28) ¥ Y frsar fawad fagsar, arar W faw snaht wa S|
- IO 8 ¥ 167, A1 91 89 Sl frsm |1

# & gl ug s1adt, 3N H Fraw A
34 TP N g B U, T ateld g | LI

T 7Y 1 g 74 §, @relt 79 99 g § 9|
WETd ' A1 |1s ¢, forT =8 ge w1

forad A9 ST MY, P A A IS FHS |
TG BT TR ATH IS 7 9D, o ¢ aed S @Rl

[T | 7 € R urn, far uRee dEs |
eTHd 'Pe A 1 faw favrsan, gu oM famrst wgn

ITYe Ui Y U 1 YD T ¥Y BT IR Id133:
Y - DI AT PT U 5! Ugd UTal 32

1. TR

2. §TERT

3. Ry

4. ALY

Correct Answer :-

29) ¥ oY frsar fawad fagsar, arar W fwr snaht wa S|
- TG 8l ¥ 16T, A1 91 89 S frsm ag 1

# & gf-ar ug s1adt, o H Iraw dig
39 T A B P U, T e S R I



g 7Y 1 g 74 §, @relt 749 99 g1 ° 9|
A "HAP! A5 ¢4, o T8 gg @aw |l

forad A9 ST 3MY, P A A IET FHIS |
TG B TR ATH P 7 7D, o T e I TqRIS Il

Hae H § ¢ ) ur, faan uRee s |
eTHd 'Pe A a1 fay favrsan, gu oM famrst wigi

IWT U B UgHR -9 IR T Uy P 3W% qaIsd:
Y - TS W A B B Fa1 fe@mar g 2

1. 3% qrofr

2. T AT

3. WSEH

4. Siddr &1 AT

Correct Answer :-

30) ® ) farrsar fawad fagsan, arar &% fewr aneh ud His|
- IOAd 81 ¥ 9167, 97 ) g9 Ul frsm s

# & gt ug arad), ot H araRT Aigh
3d TS W B B U, Taleid gS T sl

g 7Y 1 g 74 §, @relt 79 99 g1 ° 9|
HEWHA ' HAD! W15 ¢d, for e g @aH |l

fraw S99 SiawTd 3mY, Hhe H QT AHTS |
AT B R AP IS 7 9Q, 1 T e S ages

Hae H § ¢ R ur, fadn uRee s |
TeTHd 'Fe | a1 fay frean, gu oM fre) uisn

IWT U B UgHR 19 I T Uy HT 3WR JaIsd:
WY - -1 B3 B FT Pl B 2

1. gl

2. STaxT

3. %id

4. {1g

Correct Answer :-

Topic:- General Urdu(L2GU)
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Correct Answer :-
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Correct Answer :-
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1860
1880

3.

. 1869

Correct Answer :-

1880

Correct Answer :-
Ry

12)

:f_.;,fgld,!}wyb/ufuﬁjj&;;

LY
4, ¥

Correct Answer :-



13)
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Correct Answer :-

15)
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Correct Answer :-
. b

16) .
r:_...:.fbjdbfﬁfg;,f’

1870
1898

_ 1860
1880
4,

Correct Answer :-

1898

17)

r:_...:.r;UJ;r-'EULv
1870

1869
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1837
1880
4,

Correct Answer :-

1837
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3. L’f
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Correct Answer :-

247
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1869
. 1870

Correct Answer :-

4.

Correct Answer :-
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Correct Answer :-



L Bl T
Correct Answer :-

i

Topic:- HINDI (HIN)

1) s @ &I W 3= ey f AAwar a8t -
1. HETEC

PACLRIGETO

3. JHTGRITelT HTST

4. ¥chIdc

Correct Answer :-

2) faeTor FY yHEATN FH AT AT FHAT &7
1. RIETOT AT & IMURN

2. feT0T A FgaT & S
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3. ATAT-Ar

4. 39a1 I8TR

Correct Answer :-
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